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Question Number : 1 Question Id : 50521227721 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What is meant by ‘sensitive period’ in child development?

Options:

1. Period concerning a rapid advances only in cognition and learning.

2. Optimal period for development of specific capabilities.

3. Period in which development of only language can be accelerated.

4. Period at which physical growth is at its peak.

Question Number : 1 Question Id : 50521227721 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 2 Question Id : 50521227722 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Cephalo - Candal principal of development states that -
Options:

1. development proceeds from head to toe.

2. development proceeds from centre to extremities.

3. development proceeds from toe to head.

4. development proceeds from extremities to the centre.

Question Number : 2 Question Id : 50521227722 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 3 Question Id : 50521227723 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Thought becomes abstract and idealistic during the period of -
Options:

1. Infancy

2. Early childhood

3. Middle childhood

4. Adolescence

Question Number : 3 Question Id : 50521227723 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 4 Question Id : 50521227724 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Rearranging schemas, linking them with other schemas to create a strongly interconnected

cognitive system in Piaget's theory is referred to as
Options :
1. Assimilation.

2. Accommodation.



3. Organization.

4. Maturation.

Question Number : 4 Question Id : 50521227724 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 5 Question Id : 50521227725 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Children in stage can solve problems mentally but the problems themselves have to

be related to materials and not symbols.
Options :

1. formal operational

2. concrete operational

3. sensori - motor

4. pre-operational

Question Number : 5 Question Id : 50521227725 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Question Number : 6 Question Id : 50521227726 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Socio-constructivist theorist consider the child as -
Options :

1. a blank slate

2. passive recipients of knowledge

3. active beings involved in creation of knowledge.

4. miniature adults.

Question Number : 6 Question Id : 50521227726 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 7 Question Id : 50521227727 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Encouraging dialogue among students and providing scaffolding are examples of -
Options :

1. creating a zone of proximal development.

2. conditioning of responses.

3. positive reinforcement.

4. transfer of learning.

Question Number : 7 Question Id : 50521227727 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 8 Question Id : 50521227728 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Who proposed that new knowledge is constructed is a zone between what the child knows and

what she is capable of knowing with support?
Options :

1. Lev Vygotsky

2. Jean Piaget

3. Howard Gardner

4. Ivan Pavlov

Question Number : 8 Question Id : 50521227728 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 9 Question Id : 50521227729 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of these situations is illustrative of a child-centred classroom?

Options :

1. A class in which the students are sitting in groups and the teacher takes turns to go to each
group.

2. A class in which the behaviour of students is governed by the rewards and punishment the

teacher would give them.
3. A class in which the teacher dictates and the students are asked to memorise the notes.

4. A class in which the students do whatever they want while the teacher watches them silently.

Question Number : 9 Question Id : 50521227729 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 10 Question Id : 50521227730 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The idea of ideal reciprocity as exhibited in the Golden Rule is the key characteristics of which



stage of moral development according to Kohlberg?
Options:

1. Social order orientation

2. Social contract orientation

3. Universal ethical principles

4. Good boy- good girl orientation

Question Number : 10 Question Id : 50521227730 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 11 Question Id : 50521227731 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Intelligence is according to Howard Gardner.
Options :

1. a positive change in behaviour

2. a negative change in behaviour

3. the ability to produce original products



4. a set of several distinct abilities

Question Number : 11 Question Id : 50521227731 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 12 Question Id : 50521227732 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Assertion (A) : Teachers should follow standardized curriculum, pedagogy and methods of

assessment.

Reason (R) : Educational systems should ignore and dismiss individual differences among the

children.

Options :

1. Both (A) and ( R) are true and ( R) is the correct explanation of (A).

2. Both (A) and ( R) are true but ( R) is not the correct explanation of (A).
3. (A)is true but (R) is false.

4. Both (A) and (R) are false.



Question Number : 12 Question Id : 50521227732 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 13 Question Id : 50521227733 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Encouraging girls to take up languages and arts and discouraging them to take up mathematics

and science is an example of -
Options :

1. gender equity

2. gender constancy

3. gender discrimination

4. gender empowerment

Question Number : 13 Question Id : 50521227733 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



TR 1 WO S FeTeR 1 ST 3 ot e e T TR A Fe o S0 36 ot 32
FAFHIE 0 T R € —
Options :

| ST THEAT
5, STEX Teera
3, TS HEHTS

4. TS FETRERTO

Question Number : 14 Question Id : 50521227734 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following statements correctly describes the relationship between language and

thought as per the socio-constructivist perspective?

Options :

1. Language determines thought.

2. Thought is governed and directed by language.

3. Relationship between language and thought is bi-directional.

4. Language and thought are independent cognitive capabilities.

Question Number : 14 Question Id : 50521227734 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 15 Question Id : 50521227735 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

To ensure focus on ‘assessment for learning’ rather then ‘assessment of learning’ it is important to

include:

(i) Self - assessment

(ii) Peer- assessment

(iii) Quantitative feedback

(iv) Comparisons between students on quantitative parameters
Options :

1. (iii), (iv)

2. (i), (i1), (iii)

3. (ii), (iii), (iv)

4. (i), (ii), (iii), (iv)

Question Number : 15 Question Id : 50521227735 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 16 Question Id : 50521227736 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following practice promotes inclusion in education?
Options :

1. Corporal punishment to students

2. Learning for competitive exams

3. Respect for diversity

4. Standardized curriculum

Question Number : 16 Question Id : 50521227736 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 17 Question Id : 50521227737 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following disability causes challenges in paying attention and sustaining long

duration involvement in tasks?

Options :

1. Attention Deficit Hyperactivity Disorder
2. Dysgraphia

3. Dyslexia

4. Visual Impairment

Question Number : 17 Question Id : 50521227737 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

FeATeEd o ¥ F1A-5 feaamar %méﬁaﬂtw“ﬁéérmﬁrﬁwﬁmﬁrwu_r@ﬁc‘gﬂf}aﬁwwwﬂ
Options :

1 ST ST SATA RIS T

5 TEH-dhcd



3, UBA-IFA

e &

Question Number : 18 Question Id : 50521227738 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In a class having learners from various linguistics identities, a teacher should practice:
Options :

1. Multilingualism

2. Segregation

3. Labelling

4. Stereotyping

Question Number : 18 Question Id : 50521227738 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 19 Question Id : 50521227739 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Use of multimedia for communication will help inclusion of:

(i) students with intellectual difficulties

(i) students with giftedness

(iii) students with Autism

(iv) students with Dyslexia
Options :

1. (i)

2. (i), (iii)

3. (i), (ii), (iv)

4. (i), (i), (iii), (iv)

Question Number : 19 Question Id : 50521227739 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 20 Question Id : 50521227740 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is a correctly matched pair of appropriate accommodation strategy for

inclusion of students with specific disability?

Options :

1. Dyscalculia: Prohibition of use of calculator

2. Dyslexia: Giving long essays to be written

3. Visual impairment: Providing read-to-text software

4. Autism: Increasing visual overload

Question Number : 20 Question Id : 50521227740 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 21 Question Id : 50521227741 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following does not facilitate students’ thinking?
Options :

1. Active involvement

2. Meaningful activities

3. Passive listening

4. Social participation

Question Number : 21 Question Id : 50521227741 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 22 Question Id : 50521227742 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
opportunity of hands-on activities is likely to learning among students.

Options:



1. Avoiding, improve
2. Facilitating, improve
3. Presenting, stagnate

4. Preventing, enhance

Question Number : 22 Question Id : 50521227742 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 23 Question Id : 50521227743 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is correct in context of learning?

Options:

1. Students learn best when they participate in activities that are related to their context

2. Students learn best when they participate in activities that are not related to their context
3. Students learn best when they participate in meaningless activities

4. Students learn best when they participate in mechanical activities



Question Number : 23 Question Id : 50521227743 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 24 Question Id : 50521227744 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

While introducing a new topic, a teacher should ask questions which:
Options :

1. are from the domains completely unfamiliar from students.

2. are much beyond their cognitive abilities.

3. has not relation with the topic to be taught.

4. relates the topic to be studied with what students already know.

Question Number : 24 Question Id : 50521227744 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 25 Question Id : 50521227745 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Socio-cultural context of students:

Options :

1. has minimal role in the learning process

2. has norole in the learning process

3. plays a significant role in the learning process

4. should be ignored in the learning process

Question Number : 25 Question Id : 50521227745 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 26 Question Id : 50521227746 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A teacher intends to facilitate reflective skills among her students. This can be done by:
Options :

1. Asking students to copy the content written on board.

2. Encouraging students to ask themselves questions about their understanding.

3. Giving a passage to students for rote - memorization.

4. Shaping the students’ behaviour using stimulus -response associations.

Question Number : 26 Question Id : 50521227746 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 27 Question Id : 50521227747 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A teacher should:

Options :

1. discourage students to identify their errors themselves
2. ignore misconceptions carried by students

3. strengthen students’ misconceptions.

4. scaffold students to correct their errors themselves.

Question Number : 27 Question Id : 50521227747 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 28 Question Id : 50521227748 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A student is felling very nervous and having high anxiety before the exam. His emotional state is

likely to



Options :

1. cause internal motivation for performance.
2. have no impact on his performance in exam.
3. improve his performance in exam.

4. negativity impact his performance in exam.

Question Number : 28 Question Id : 50521227748 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 29 Question Id : 50521227749 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of following is a correctly matched pair of a source of motivation and the type of

motivation?

Options:

1. Curiosity - Intrinsic motivation

2. Appreciation from peers - Intrinsic motivation

3. Praise of teacher - Intrinsic motivation



4. Trophy in match - Intrinsic motivation

Question Number : 29 Question Id : 50521227749 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 30 Question Id : 50521227750 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following will not facilitate understanding of a concept?
Options :

1. Asking students to copy the answers from the notes given by teacher.
2. Asking students to explain that concept in their own words.

3. Asking students to frame principles from specific examples.

4. Asking students to generate analogies between different conditions.

Question Number : 30 Question Id : 50521227750 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Social Studies or Social Science

SectionId: 505212878
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 60
Number of Questions to be attempted : 60

Section Marks : 60

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Sub-Section Number : 1
Sub-Section Id : 5052121598
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 50521227751 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Samudragupta is depicted in coins playing which musical instrument?
Options:

1. Tanpura

2. Sitar

3. Veena

4. Flute

Question Number : 31 Question Id : 50521227751 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 32 Question Id : 50521227752 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Read statements A, B and C and select correct answer.
Why Magadha became the most important Mahajanpada in about two hundred years?

A. Many rivers such as Ganga and Son flowed through Magadha.



B. Parts of Magadha were forested.

C. There were iron ore mines in the region.
Options :
1.Aand B
2.Band C
3.Cand A

4. A, BandC

Question Number : 32 Question Id : 50521227752 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 33 Question Id : 50521227753 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Read the statements (A) and (R) and choose the correct option.
Assertion (A): The Roman empire carried out trades with South India.

Reason (R): Roman gold coins have been found in South India.
Options :

1. Both (A) and (R) are correct and R is the correct explanation of A.

2. Both (A) and (R) are correct and R is not the correct explanation of A.
3. (A) is true, but (R) is false.

4. (A) is false but (R) is true.

Question Number : 33 Question Id : 50521227753 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 34 Question Id : 50521227754 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following is a feature of a trading town in medieval period?
Options:

1. The temple was central to the economy and society.

2. It was the capital of the kings.

3. They usually had a Mandapika.

4. The priests and pilgrims formed the main composition of its residents and visitors.

Question Number : 34 Question Id : 50521227754 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 35 Question Id : 50521227755 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Consider the statements A, B and C on periodisation of history and choose the correct answer.
A. British historians divided the history of India into three periods.

B. The division was based on the idea of religion.



C. The division ignored the rich diversity of the subcontinent.
Options:

1. A, Band Call are correct.

2. A and B are correct and C is incorrect.

3.Aand C are correct and B is incorrect.

4. B and C are correct and A is incorrect.

Question Number : 35 Question Id : 50521227755 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TR & ST (FTTRE) WHLRT A, B, ¥R C T &R 1190 747 T 30 1 54 o]
A. SIS 3T ETRRT  WTC  rerel 1 A 1 &t o

B. TS, 49 o famm W afrettia

C. FopaTer & Sumersia <t s fafafirmr i sven it

Options :

A, B3t C mftwdt ¥

1

, A TR B W& & 791 C 7o 2
3. AR CHf g T BT 2

4. B ¥R C T& 2 7uT A T 2

Question Number : 36 Question Id : 50521227756 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Consider the statements A and B about Banjaras and choose the correct answer.

A. The Banjaras were the most important trader nomads.



B. Alauddin Khalji made the Banjaras to transport grains to the city markets.
Options :

1. Both A and B are false.

2. Ais true and B is false.

3. Ais false and B is true.

4. Both A an B are true.

Question Number : 36 Question Id : 50521227756 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 37 Question Id : 50521227757 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

By the seventh century, many European colonialists began to cultivate indigo. In this context,

match the following correctly.



A) French ...(i) Brazil
B) Portuguese ...(ii) Jamaica
C) English ...(iii) Venezuela

D) Spanish ...(iv) Caribbean Island
Options :

1. A-iv, B-i, C-ii, D-iii

2. A-i, B-ii, C-iii, D-iv

3. A-iv, B-ii, C-i, D-iii

4. A-iii, B-i, C-ii, D-iv

Question Number : 37 Question Id : 50521227757 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 38 Question Id : 50521227758 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Consider the following statements and choose the correct option.

(A) In the Nij system of cultivation of sugarcane, the planter produced sugarcane on the land that

he directly controlled.

(B) In the Nij system, planter either bought the land or rented it from other zamindars and

produced indigo by directly employing hired labourers.

(C) In the Nij cultivation, the Planter would need vast number of hands,many plough and bullocks.
Options :

1. A, Band C are correct.

2. A and B are correct.

3. B and C are correct.

4. A and C are correct.

Question Number : 38 Question Id : 50521227758 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 39 Question Id : 50521227759 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Rammohun Roy in his writings argued and persuaded that Sati had no sanction because:
Options :

1. the British were against it.

2. the ancient sacred texts did not endorse it.

3. ancient texts that endorsed Sati must be discarded.

4. women who committed Sati were desirous of death.

Question Number : 39 Question Id : 50521227759 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 40 Question Id : 50521227760 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Consider the following statements in the context of reforms associated with women:

(A) Ishwar Chand Vidyasagar took up the cause of widow remarriage.

(B) Veersalingam Pantulu formed an association of widow remarriage in Madras Presidency.
(C) Widows who remarried were accepted well in the society.

Which of the above are correct?
Options :

1. (A), (B) and (C)

2. Only (A) and (B)

3. Only (A) and (C)

4. Only (B) and (C)

Question Number : 40 Question Id : 50521227760 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 41 Question Id : 50521227761 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Read the statements Assertion (A) and Reasoning (R) and choose the correct option.

Assertion (A): During 19th century, when the first schools were opened for girls, people were afraid

of them.

Reason (R): People feared that travelling to schools would have a corrupting influence on girls.
Options :

1. Both (A) and (R) are true and R is the correct explanation of A.

2. Both (A) and (R) are true but R is not the correct explanation of A.

3. (A) is true, but (R) is false.

4. Both (A) and (R) are false.

Question Number : 41 Question Id : 50521227761 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 42 Question Id : 50521227762 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Consider the following statements in the context of British rule in India and choose the correct

option:
(A): Moderates demanded that civil service examination should be held in India as well.

(R): It was a major demand of moderates that Indians be placed in high positions.
Options :

1. Both (A) and (R) are true and R is the correct explanation of A.

2. Both (A) and (R) are true but R is not the correct explanation of A.

3. (A) is true, but (R) is false.

4. Both (A) and (R) are false.

Question Number : 42 Question Id : 50521227762 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 43 Question Id : 50521227763 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Consider these statements in the context of Rowlatt Satyagraha and choose the correct option.
(A) Rowlatt Act curbed the fundamental rights and strengthened police powers.

(B) Mohammad Ali Jinnah, Mahatma Gandhi and others argued that government has no right to

restrict people's basic freedoms.

(C) Even though Hindus and Muslims were against Rowlatt Act, the Rowlatt Satyagraha could not

turn out to be the all India struggle against the British.
Options :

1. Both (A) and (B) are true.

2. Both (B) and (C) are true.

3. Both (A) and (C) are true.

4. Only Cis true.

Question Number : 43 Question Id : 50521227763 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 44 Question Id : 50521227764 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What is/are the important criteria used to provide opportunities for Indians to study in
government run or supported educational institutions and to work in government offices in India?
A. Caste

B. Family Income

C. Gender

D. Income of Individual

Choose the correct option.



Options :
1.A,Band C
2.B,Cand D
3.Aand B

4. A only

Question Number : 44 Question Id : 50521227764 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 45 Question Id : 50521227765 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Read the given statements A and B and select the correct answer.



A. Earth provides the pulling force that binds the solar system.

B. Outer planets are far from the sun and are made up of rocks.
Options :

1. Ais true and B is false

2. Aisfalse and B is true

3. Both A and B are true

4. Both A and B are false

Question Number : 45 Question Id : 50521227765 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 46 Question Id : 50521227766 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Gulf stream is a warm current thus it has tendency to move

Options:



1. towards equator
2. towards poles
3. neither towards equator nor towards poles

4. with no certainty.

Question Number : 46 Question Id : 50521227766 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 47 Question Id : 50521227767 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Consider the following two statements about longitudes.
A. All meridians of longitudes are of equal length.
B. The value of Prime Meridian is 180° longitude.

Choose the correct option.

Options :



1. Ais true and B is false
2. Ais false and B is true
3. Both A and B are true

4. Both A and B are false

Question Number : 47 Question Id : 50521227767 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 48 Question Id : 50521227768 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Consider the following statements (A), (B) and (C) and choose the correct option.

(A) Heat zones of the world are categorized according to latitudes.



(B) The imaginary lines joining the north and south poles are called longitudes.

(C) All longitudes are of equal length.
Options :

1. Only (A) and (B) are true.

2. Only (B) and (C) are true.

3. Only (A) and (C) are true.

4. Only (A) is true.

Question Number : 48 Question Id : 50521227768 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 49 Question Id : 50521227769 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

While teaching the physical features of India, a teacher asks students to mark rivers flowing in the



Vindhya and Satpura ranges on a physical map of India. Which of the following rivers does she

want the students to make?
Options :

1. Narmada and Tapti

2. Narmada and Mahanadi
3. Tapti and Godavari

4. Krishna and Godavari

Question Number : 49 Question Id : 50521227769 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

WA 2 W7 S0 1 3T 20 ST 3 BT o %ﬂ@ﬂdg& AT % T AR e A A
T Tafee e 1 | Feeentian 3§ - et o1 a2 e o o o et &0

Options :

| TET U AT
, eI UE HETal

5 T UF T

4

Question Number : 50 Question Id : 50521227770 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Consider the following two statements about ocean currents and choose the correct option.

A. The areas where the warm and cold currents meet provide the best fishing grounds of the

world.



B. The areas where the warm and cold currents meet are difficult areas for navigation.
Options :

1. Ais true and B is false

2. Aisfalse and B is true

3. Both A and B are true

4. Both A and B are false

Question Number : 50 Question Id : 50521227770 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 51 Question Id : 50521227771 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A teacher is teaching the concept of ecosystem in an elementary/middle stage class. Which of the

following information will be useful for her?



(A) Climate conditions of specific place
(B) A rainforest as an example

(O)A small pond as an example
Options :

1. Only (A) and (B)

2. Only (B) and (C)

3. Only (A) and (C)

4. All (A), (B) and (C)

Question Number : 51 Question Id : 50521227771 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 52 Question Id : 50521227772 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Consider the following statements and choose the correct option.
(A) Humidity is greater over oceans and least over the continents.
(B) Condensation depends upon the amount of cooling and relative humidity of the air.

(C) the white trail behind jet planes is moisture that is condensed.
Options :

1. Both A and B are correct.

2. Both B and C are correct.

3. Both A and C are correct.

4. All (A), (B) and (C) are correct

Question Number : 52 Question Id : 50521227772 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 53 Question Id : 50521227773 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

From the following statements on air pressure, choose which is the correct one:
Options :

1. Air pressure is lowest at sea level.

2. Air pressure decreases with height.

3. In areas having high temperature the air is cold.

4. In areas having lower temperature the air gets heated and rises.

Question Number : 53 Question Id : 50521227773 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 54 Question Id : 50521227774 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Consider the following statements (A), (B) and (C) and choose the correct option.



(A) Human settlements are reflection of how human beings have modified their environment.
(B) Natural conditions play no role in selection of an ideal site.

(C) Only when humans started to grow crops, it became necessary to have permanent homes.
Options :

1. Only (A) and (B) are true.

2. Only (B) and (C) are true.

3. Only (A) and (C) are true.

4. Only (C) is true.

Question Number : 54 Question Id : 50521227774 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 55 Question Id : 50521227775 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Consider the statements (A), (B) and (C) on water as a resource and choose the correct option.

(A) Water can neither be added or subtracted from the earth.

(B) Only 2.7% of the earth's water is fit for human use.

(C) Water is a renewable resource.
Options :

1. Only (A) and (B) are true.

2. Only (B) and (C) are true.

3. Only (A) and (C) are true.

4. A, B and C are all true.

Question Number : 55 Question Id : 50521227775 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 56 Question Id : 50521227776 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A teacher wants to discuss about minerals in her class at elementary level. Which of the following

examples should she use in her class?

(A) Copper

(B) Mica

(C) Salt

(D) Lime stone

Choose the correct option.
Options:

1. Only (A) and (B)

2. Only (A), (B) and (C)

3. Only (A), (C) and (D)

4. All (A), (B), (C) and (D)

Question Number : 56 Question Id : 50521227776 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 57 Question Id : 50521227777 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Identify the crop from the given features (A) and (B).
(A) It requires warm and wet climate and well drained loamy soil.

(B) Hill slopes are more suitable for growth of this crop.
Options :

1. Tea

2. Coffee

3. Cotton

4. Rice



Question Number : 57 Question Id : 50521227777 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 58 Question Id : 50521227778 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following symbolises diversity?

A. People belonging to the same caste, but living in different places, marry people from their own

caste.

B. Students from the same locality but belonging to different castes studying in a school.

C. People belonging to same religious faith and living in one locality.

D. Food materials and clothes catering to different communities available in a shopping locality.

Choose the correct option.

Options :



1.Aand B
2.A,Band C
3.Aand C

4.Band D

Question Number : 58 Question Id : 50521227778 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 59 Question Id : 50521227779 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following practices symbolises the acceptance of diversity?

A. Encouraging women to run public vehicles such as taxis, autos and buses



B. Forming self help groups containing only women and from a few communities
C. Allowing people from a few communities to buy land and other properties

D. Reserving a park to celebrate festivals for those residing in the surrounding areas
Options :

1.AandB

2.Cand D

3.A,Band C

4. Aand D

Question Number : 59 Question Id : 50521227779 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 60 Question Id : 50521227780 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

According to Mahatma Gandhi National Rural Employment Guarantee Act 2009, identifying and

generating employment opportunities in the rural area is the responsibility of
Options :

1. Indian Parliament.

2. State Legislature.

3. District Panchayat.

4. Village Panchayat.

Question Number : 60 Question Id : 50521227780 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 61 Question Id : 50521227781 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Match the following and choose the correct option.



Levels of government ...Types of Decisions

a. Central government ...(i) Decision to open a park in Vellore, a small town in Tamil Nadu

b. State government ...(ii) Introduction of new 2000 rupee note

c. Local government ...(iii) Decision to set up a regional transport office

Options :

1. a-(ii), b-(i), c-(iii)
2. a-(iii), b-(ii), c-(i)
3. a-(ii), b-(iii), c-(i)
4. a-(iii), b-(i), c-(ii)

Question Number : 61 Question Id : 50521227781 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 62 Question Id : 50521227782 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What is meant by casual employment?

Options :

1. Workers are not given uniforms and have to come in casual wear
2. Workers have the choice of coming to work whenever they want to
3. Workers are called to work only when the employees need them

4. Workers are employed for fixed periods of time

Question Number : 62 Question Id : 50521227782 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 63 Question Id : 50521227783 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



In a garment industry, which of the following is likely to make the highest profits?
Options:

1. Traders who supply yarn to weavers

2. The multinational companies

3. The weavers

4. Weavers' cooperatives

Question Number : 63 Question Id : 50521227783 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 64 Question Id : 50521227784 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Which is the basic feature of Democracy?
Options :

1. Inequality

2. Free trade

3. Equality



4. Reasonable restrictions

Question Number : 64 Question Id : 50521227784 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 65 Question Id : 50521227785 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Kavita sells tea at 5:00 am at the bus station. At 7:00 am, she goes to fetch water from a far-away
well. After returning back home she cooks food, washes clothes, cleans the house, and then goes

to the market to purchase items for her tea shop.

Kavita is currently facing:
Options :

1. Care-giving work

2. Double burden

3. House-work

4. Paid work



Question Number : 65 Question Id : 50521227785 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 66 Question Id : 50521227786 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which among the following Fundamental Rights will be violated if a group of people from Jain

community is not allowed to open a learning centre on the teachings of the Jain Tir thankars.
Options :

1. Right to cultural and educational rights

2. Right to freedom of religion

3. Right to freedom

4. Right to equality

Question Number : 66 Question Id : 50521227786 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 67 Question Id : 50521227787 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What is meant by the Right to Constitutional Remedies?

Options:

1. Right of the government to amend the Constitution

2. Right of the citizens to appeal to the court in case of violation of their Fundamental Rights
3. Right of the government to expand its powers using the Constitutional provisions

4. Right of the citizen to demand that the new provision may be added to the Constitution

Question Number : 67 Question Id : 50521227787 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 68 Question Id : 50521227788 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Under which jurisdiction of the Supreme Court the dispute between the centre and states are

included?

Options:

1. Original Jurisdiction
2. Appellate Jurisdiction
3. Advisory Jurisdiction

4. Residuary Jurisdiction

Question Number : 68 Question Id : 50521227788 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 69 Question Id : 50521227789 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Read the following Assertion (A) and Reasoning (R):
(A) Empires, in the past, heavily depended on Adivasis for access to forest resources.
(R) The Adivasis had a deep knowledge of access to, as well as control over most of the forests.

Choose the correct option.

Options :

1. Both (A) and (R) are true and R is the correct explanation of A.

2. Both (A) and (R) are true but R is not the correct explanation of A.
3. (A) is true, but (R) is false.

4. Both (A) and (R) are false.

Question Number : 69 Question Id : 50521227789 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

feAferiad AR (A) 37 10 (R) F1 T6:-

A, 32 S TS 3 YRR  foru et @ it e 4

B. AT o U a1 e T o1 T 1 S AT 21 612 SHVIehae a9 A1 ot
Options :

(A) 3R (R) T 2 € A (R) T ST F1 2 (A) |

1

_(A) 3 (R) TFT HET €, T (R) FET A 7E & (A) F

2



3. (A) &Y 2, SR (R) eI 2

;. (A) #T(R) 3T e

Question Number : 70 Question Id : 50521227790 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Consider the following statements and choose the correct option.

(A) The term 'minority' refers to communities that are numerically small in relation to rest of the

population.

(B) The term 'minority’ is not just about members but encompasses the issue of power, access to

resources etc.

Options :

1. A and B, both are correct.
2.0nly A'is correct, B is incorrect.
3. Only B is correct, A is incorrect.

4. Both A and B are incorrect.

Question Number : 70 Question Id : 50521227790 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 71 Question Id : 50521227791 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Complete the sentence with appropriate option.
We use inter disciplinary approach in teaching of social sciences to

Choose the most appropriate option.

Options:

1. ensure that syllabus is completed.

2. enable learning within the boundaries of disciplines.

3. illustrate inter connection and interdependence between disciplines.

4. make class more lively and engaging.

Question Number : 71 Question Id : 50521227791 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 72 Question Id : 50521227792 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Social Science equips children mainly with the ability to
(A) think independently.

(B) question superstitions.

(C) unlearn gender biases and stereotypes.

(D) follow rules and social code of conduct.
Options:

1.A,Band C

2.Aand B

3.Aand C

4.A,B,CandD

Question Number : 72 Question Id : 50521227792 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 73 Question Id : 50521227793 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Sensitivity towards women's issues can be encouraged in classroom by
A. asking students to read the textbook on women in history.

B. listing the constitutional provisions for women.

C. collective introspection on testimonies of discrimination.

D. discussing power relations between men and women in society.

Choose the correct option.
Options :

1.Aand C



2.Band C
3.Band D

4.Cand D

Question Number : 73 Question Id : 50521227793 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 74 Question Id : 50521227794 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A teacher in a social science classroom, uses artefacts and folktales from a particular culture to

build upon students' curiosity regarding that culture' is an example of

A) story telling



B) role play
C) source method

D) open inquiry
Options :
1.Aand B
2.Band C
3.AandD

4.Cand D

Question Number : 74 Question Id : 50521227794 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 75 Question Id : 50521227795 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Effective teaching of social science is crucially linked to

(A) a shift from rote learning to comprehension, through the implementation of projects and

assignments.
(B) memory based questions and subjective evaluation techniques.
(C) frequent use of complex and expensive teaching aids.

(D) the efficient functioning of the school library and teacher's ability and creatively to utilize the

resources.

Choose the correct option.
Options :
1.Aand B
2.Band C
3.Aand C

4. Aand D

Question Number : 75 Question Id : 50521227795 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 76 Question Id : 50521227796 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What is the responsibility of a teacher in a democratic classroom?

Options :

1. Leaving classroom decision making to government.

2. Overlook discipline issues in the class and focus on the syllabus.

3. Establishing rules and regulations independent of students and management.

4. Providing a fair chance to all the students to freely express their views.

Question Number : 76 Question Id : 50521227796 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 77 Question Id : 50521227797 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

According to Kilapatrick, which of the following educational methods is the best method in

teaching the concept of democracy?
Options:

1. Project method

2. Play-way method

3. Problem-solving method

4. Discovery method

Question Number : 77 Question Id : 50521227797 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 78 Question Id : 50521227798 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

To discuss the theme 'Partition’, which primary source could you bring to the class?
Options :

1. Photographs of the refugee camp in Old Fort, Delhi from 1948

2. The film 'Gadar: Ek Prem Kata'

3. The novel 'Train to Pakistan'

4. Excerpts from the story 'Tamas'

Question Number : 78 Question Id : 50521227798 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 79 Question Id : 50521227799 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following better reflect as social science class that provides opportunities for critical

thinking?



A. Students can ask questions only at the end of teaching activity.

B. The amount of time for students' questioning is more than teacher questioning.
C. Evidences are made available on the topic discussed in the class.

D. Teacher seeks more than one view point on the topic.

Choose the correct option.
Options :

1.A,Band C

2.B,Cand D

3.A,BandD

4. A,Cand D

Question Number : 79 Question Id : 50521227799 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 80 Question Id : 50521227800 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Suppose you wish to teach students to understand how wage rates are determined. Which of the

following will be highly relevant?

A. Data collected from workers

B. Reports of governments on wages
C. Labour laws/codes

D. Consumer Expenditure Surveys

Choose the correct option.
Options :

1.A,Band C

2.A,Band D

3.A,Cand D

4.B,Cand D

Question Number : 80 Question Id : 50521227800 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 81 Question Id : 50521227801 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Read the statements A and B about a social science class and choose the correct answer.
Statement A: Children must be kept away from knowing and enquiring into conflict.

Statement B: From pedagogical point of view, a conflict which has been settled, debated and

discussed in the media, is the best to teach in the classroom.
Options :

1. Ais true and B is false

2. Ais false and B is true

3. Both A and B are false

4. Both A and B are true



Question Number : 81 Question Id : 50521227801 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 82 Question Id : 50521227802 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following questions provide opportunities to answer using critical thinking

perspectives?

A. Why women's representation is so low in India? Do you think America and Europe have

achieved a satisfactory level of women's representation?

B. Would you agree with the statement that economic marginalisation and social marginalisation

are interlinked? Why?

C. What do you understand by the word 'government'? List five ways in which the government

affects people.



Choose the correct option.

Options :
1.0nly A

2.Aand B
3.Band C

4. A, Band C

Question Number : 82 Question Id : 50521227802 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 83 Question Id : 50521227803 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Which of the following are examples of primary sources?
A. Photographs

B. Encyclopaedia

C. Speeches

D. Diaries
Options :
1.A,Band C
2.A,Cand D
3.B,Cand D

4. Aand B

Question Number : 83 Question Id : 50521227803 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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4. ATYT B

Question Number : 84 Question Id : 50521227804 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Read the Assertion (A) and Reasoning (R) about general misconceptions about social sciences and

choose the correct option.

Statement (A): Social sciences receive less importance in curriculum when compared to other

subjects.

Statement (R): Students feel uninterested in comprehending social science contents.
Options :

1. Both (A) and (R) are true and R is the correct explanation of A.

2. Both (A) and (R) are true but R is not the correct explanation of A.

3. (A) is true, but (R) is false.

4. Both (A) and (R) are false.

Question Number : 84 Question Id : 50521227804 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 85 Question Id : 50521227805 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The following are some parts of a typical project report.
A. Analysis and Discussion

B. Summary and Conclusions

C. Background to Research Question

D. Methodology and Data sources

E. Recommendations

What could be the most appropriate sequencing of a project report?
Options :

1.B,D,E,AandB

2.C,B,A,DandE

3.C,D,A,Band E

4.D,E, B,Aand C

Question Number : 85 Question Id : 50521227805 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 86 Question Id : 50521227806 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is generally given least importance while formulating a rubric to evaluate a
project report?

Options :

1. Learning outcomes

2. Student participation

3. Presentation

4. Teacher guidance

Question Number : 86 Question Id : 50521227806 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



i v 5 e 3 o e e e o o e o e e e
Options :

| AT Uiawe
, Termrerat =t afewriraT

3. 3

4. T3187% <7 TmTEEN

Question Number : 87 Question Id : 50521227807 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which cognitive process is assessed in the question- Examine the impact of Mahatma Gandhi

National Rural Employment Guarantee Act in reducing poverty in India?
Options :

1. Remember

2. Evaluate

3. Analyse

4, Create

Question Number : 87 Question Id : 50521227807 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 88 Question Id : 50521227808 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following questions assesses the conceptual knowledge?

Options :

1. Why is it that we cannot go to the centre of earth? Give reasons.

2. What are exogenic and endogenic forces?

3. Why is the quality of air deteriorating? Give reason and ways and means to improve its quality.

4. Why is the ocean water salty? Give reasons.

Question Number : 88 Question Id : 50521227808 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 89 Question Id : 50521227809 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following should be considered while developing evaluation procedure as per the

Right of Children to Free and Compulsory Education Act 2009?

Options :

1. Children need to be given home work regularly.

2. As far as possible, corporal punishment should be avoided.

3. Examination should be conducted only after completing the syllabus.

4. Make the child free of fear, trauma and anxiety.

Question Number : 89 Question Id : 50521227809 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 90 Question Id : 50521227810 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Assessment for learning in a Social Science classroom warrants

A. Teachers to review and modify his/her teaching learning processes.
B. Frequently use of peer assessment by students.

C. Use of multiple strategies of assessment.

D. Use of Board directions while formulating assessment framework.

Choose the correct option.
Options:

1.A,Band C

2.Aand C

3.Band C

4.A,Band D

Question Number : 90 Question Id : 50521227810 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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4 A B3RD

Language I
Section Id : 505212879
Section Number : 3
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 17
Number of Questions to be attempted : 17
Section Marks : 30
Enable Mark as Answered Mark for Review and
Clear Response: ves
Sub-Section Number : 1
Sub-Section Id : 5052121599
Question Shuffling Allowed : Yes

Question Id : 50521227811 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (91 to 99)

Question Label : Comprehension



Read the passage given below and answer the question /complete
the statement that follow by choosing the correct options from the
given ones.

1) Cycling to work may seem the healthy options, but a study
has shown that people riding in cities inhale tens of millions of
toxic nanoparticles with every breath, at least five times more
than drivers or pedestrians.

2) The research showed that urban concentrations of
nanoparticles, which measure just a few millions of a
millimetre, could reach several hundred thousand in a cubic
centimetre of air. The particles, when inhaled, have been
linked to heart disease and respiratory problems.

3) Because they are exerting themselves, cyclists breathe harder
and faster than other road users. The study found that they
suck in about 1,000 cubic cm with each breath, meaning they
may inhale tens of millions of particles each time they fill their
lungs, and billions during a whole journey.

4) “This is the first time anyone has counted the particles while
also measuring people’s breathing during city commuting. It
showed that cyclists can inhale an astonishing number of
pollutant particles in one journey.

5) For the research, Int Panis and his colleagues asked cyclists to
pedal while wearing a mask fitted with instruments that could
count the particulates, as the particles are known.

6) The researchers found that in Brussels the cyclists inhaled
5.58 million nanoparticles for every metre cycled, dropping to
1.1 million when they tried the experiment in Mol, a smaller
town in Belgium. They also found that the cyclists inhaled 4.5
times more particles than a car passenger driven along the
same route.

Sub questions

Question Number : 91 Question Id : 50521227812 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Why is ‘cycling to work’ not a healthy option?

1) Itis time consuming.

2) Itisvery tiring.

3) A cyclist inhales toxic nanoparticles.

4) It is not safe because of heavy traffic on the road.

Options :



1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 50521227813 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Cyclists are more prone to respiratory problems because
they:

1) are on the road for long stretches of time.

2) are most of the time not commuting in the cities.
3) are inhaling plenty of pollutant particles.

4) they are not wearing a mask.

Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 50521227814 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Read the following statements.
A) Nano particles are very small in size.
B) Nano particles travel very fast.
C) Nano particles can cause a fatal disease like cancer.

Choose the correct option from the following
1) A and B are true but Cis false
2) A and B are false but Cis true
3) A and C are true but B is false
4) B and C are true but A is false

Options :

1.1



2.2
3.3
4.4

Question Number : 94 Question Id : 50521227815 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The pollutant particles present in air can cause diseases,
likes

1) thyroid

2) pneumonia
3) heart disease
4) diabetes

Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 50521227816 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Fill in the blank with correct option that follows:
Nano particles are in proportion to the size
of the town.

1) direct
2) inverse
3) equal
4) adverse

Options :
1.1
2.2
3.3



4.4

Question Number : 96 Question Id : 50521227817 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Nano particles are

1) quite big in size
2) transparent

3) very small in size
4) opagque

Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 50521227818 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘Commuting’ means as used in the passage.

1) travelling from one place to another
2) compensating for one’s sins

3) to make a punishment less severe
4) to substitute one thing for another

Options:
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 50521227819 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

‘people riding in cities inhale’ .......
The underlined word is a/an

MNoun
Adverb
Adjective
4. Preposition

il v

Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 50521227820 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘that count the particulates’
The underlined word is a

Noun

Verb
Adjective

4. Conjunction

ol v

Options:
1.1
2.2
3.3

4.4

Question Id : 50521227811 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (91 to 99)

Question Label : Comprehension



Read the passage given below and answer the question /complete
the statement that follow by choosing the correct options from the
given ones.

1) Cycling to work may seem the healthy options, but a study
has shown that people riding in cities inhale tens of millions of
toxic nanoparticles with every breath, at least five times more
than drivers or pedestrians.

2) The research showed that urban concentrations of
nanoparticles, which measure just a few millions of a
millimetre, could reach several hundred thousand in a cubic
centimetre of air. The particles, when inhaled, have been
linked to heart disease and respiratory problems.

3) Because they are exerting themselves, cyclists breathe harder
and faster than other road users. The study found that they
suck in about 1,000 cubic cm with each breath, meaning they
may inhale tens of millions of particles each time they fill their
lungs, and billions during a whole journey.

4) “This is the first time anyone has counted the particles while
also measuring people’s breathing during city commuting. It
showed that cyclists can inhale an astonishing number of
pollutant particles in one journey.

5) For the research, Int Panis and his colleagues asked cyclists to
pedal while wearing a mask fitted with instruments that could
count the particulates, as the particles are known.

6) The researchers found that in Brussels the cyclists inhaled
5.58 million nanoparticles for every metre cycled, dropping to
1.1 million when they tried the experiment in Mol, a smaller
town in Belgium. They also found that the cyclists inhaled 4.5
times more particles than a car passenger driven along the
same route.

Sub questions

Question Number : 91 Question Id : 50521227812 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Why is ‘cycling to work’ not a healthy option?

1) Itis time consuming.

2) Itisvery tiring.

3) A cyclist inhales toxic nanoparticles.

4) It is not safe because of heavy traffic on the road.

Options :



1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 50521227813 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Cyclists are more prone to respiratory problems because
they:

1) are on the road for long stretches of time.

2) are most of the time not commuting in the cities.
3) are inhaling plenty of pollutant particles.

4) they are not wearing a mask.

Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 50521227814 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Read the following statements.
A) Nano particles are very small in size.
B) Nano particles travel very fast.
C) Nano particles can cause a fatal disease like cancer.

Choose the correct option from the following
1) A and B are true but Cis false
2) A and B are false but Cis true
3) A and C are true but B is false
4) B and C are true but A is false

Options :

1.1



2.2
3.3
4.4

Question Number : 94 Question Id : 50521227815 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The pollutant particles present in air can cause diseases,
likes

1) thyroid

2) pneumonia
3) heart disease
4) diabetes

Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 50521227816 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Fill in the blank with correct option that follows:
Nano particles are in proportion to the size
of the town.

1) direct
2) inverse
3) equal
4) adverse

Options :
1.1
2.2
3.3



4.4

Question Number : 96 Question Id : 50521227817 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Nano particles are

1) quite big in size
2) transparent

3) very small in size
4) opagque

Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 50521227818 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘Commuting’ means as used in the passage.

1) travelling from one place to another
2) compensating for one’s sins

3) to make a punishment less severe
4) to substitute one thing for another

Options:
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 50521227819 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

‘people riding in cities inhale’ .......
The underlined word is a/an

MNoun
Adverb
Adjective
4. Preposition

il v

Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 50521227820 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘that count the particulates’
The underlined word is a

Noun

Verb
Adjective

4. Conjunction

ol v

Options:

1.1

2.2

3.3

4.4

Sub-Section Number : 2
Sub-Section Id : 5052121600

Question Shuffling Allowed : Yes

Question Id : 50521227821 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No



Question Numbers : (100 to 105)

Question Label : Comprehension

Read the poem given below and answer the question/complete the

statements that follow by choosing the correct options from the
given ones.

1 there lived a sage in days of yore,
And he a handsome pigtail wore;
But wondered much and sorrowed more
4 Because it hung behind him.
He mused upon this curious case,
And have it hanging at his face,
And have it hanging at his face,
8 Not dangling there behind him.
Says he, “The mystery I've found-
I’ll turn me round” -
He turned him round;
12  Butstill it hung behind him.
Then round, and round, and out and in,
All day the puzzled sage did spin;
In vain—it mattered not a pin—
16  The pigtail hung behind him.
And right, and left, and round about,
And up, and down, and in, and ouf,
He turned, but still the pigtail stout
20 Hung steadily behind him.
And though his efforts never slack,
And though he twist, and twirl, and tack,
Alas! still faithful to his back,
24  The pigtail hangs behind him.

Sub questions

Question Number : 100 Question Id : 50521227822 Question Type

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

: MCQ Option Shuffling : No



A) The sage was filled with sorrow — Assertion
B) His pigtail hung behind him — Reasoning

Choosing the best option from the following

1) Alistrue but B is false
2) Aisfalse but Bis true
3) Both A and B are true and B is responsible for A
4) Both A and B are false

Options :
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 50521227823 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Read the following statements
A) The sage turned round and round
B) The sage wanted to change the position of his
pigtail.
C) The sage was feeling very thrilled.
Choose the correct option from the following:

1) Ais correct but B and C are false.
2) A and B are correct but C is false.
3) A and C are correct but B is false.
4) Ais false but B and C are correct.

Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 50521227824 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

What mystery is the sage wondering about?
The pigtail ...........

1) is banging his face.

2) is very beautiful.

3) Is hanging behind him always.
4) is very stout.

Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 50521227825 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Read the following statements:

A) The pigtail is very faithful.

B) It hangs behind the sage always.
Choose the correct option from the following:

1) Ais true but B is false
2) Aisfalse but Bis true
3) Both A and B are true and B implies A
4) Both A and B are false

Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 50521227826 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The phrase ‘in vain’ in line 15 means:

without effort
without success
disappointing
frustrating

1
2
3
A

[ R

Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 50521227827 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
What part of speech is ‘slack’ in line 217

1) adjective
2) adverb
3) noun

4) verb

Options :
1.1
2.2
3.3
4.4

Question Id : 50521227821 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (100 to 105)

Question Label : Comprehension



Read the poem given below and answer the question/complete the
statements that follow by choosing the correct options from the
given ones.

1 there lived a sage in days of yore,
And he a handsome pigtail wore;
But wondered much and sorrowed more
4 Because it hung behind him.
He mused upon this curious case,
And have it hanging at his face,
And have it hanging at his face,
8 Not dangling there behind him.
Says he, “The mystery I've found-
I'll turn me round” —
He turned him round;
12  Butstill it hung behind him.
Then round, and round, and out and in,
All day the puzzled sage did spin;
In vain—it mattered not a pin-
16  The pigtail hung behind him.
And right, and left, and round about,
And up, and down, and in, and out,
He turned, but still the pigtail stout
20 Hung steadily behind him.
And though his efforts never slack,
And though he twist, and twirl, and tack,
Alas! still faithful to his back,
24  The pigtail hangs behind him.

Sub questions

Question Number : 100 Question Id : 50521227822 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A) The sage was filled with sorrow — Assertion
B) His pigtail hung behind him — Reasoning

Choosing the best option from the following

1) Aistrue but B is false
2) Aisfalse but Bis true
3) Both A and B are true and B is responsible for A
4) Both A and B are false



Options :
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 50521227823 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Read the following statements
A) The sage turned round and round
B) The sage wanted to change the position of his
pigtail.
C) The sage was feeling very thrilled.
Choose the correct option from the following:

1) Ais correct but B and C are false.
2) A and B are correct but C is false.
3) A and C are correct but B is false.
4) Ais false but B and C are correct.

Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 50521227824 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What mystery is the sage wondering about?
The pigtail ...........

1) is banging his face.

2) is very beautiful.

3) Is hanging behind him always.
4) is very stout.



Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 50521227825 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Read the following statements:

A) The pigtail is very faithful.

B) It hangs behind the sage always.
Choose the correct option from the following:

1) Aistrue but B is false
2) Aisfalse but Bis true
3) Both A and B are true and B implies A
4) Both A and B are false

Options:
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 50521227826 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The phrase ‘in vain’ in line 15 means:

1) without effort
2) without success
3) disappointing
4) frustrating

Options :

1.1



2.2
3.3
4.4

Question Number : 105 Question Id : 50521227827 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
What part of speech is ‘slack’ in line 217

1) adjective
2) adverb
3) noun

4) verb

Options:
1.1
2.2
3.3

4.4

Sub-Section Number : 3
Sub-Section Id : 5052121601

Question Shuffling Allowed : Yes

Question Number : 106 Question Id : 50521227828 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In a class students are able to absorb the content but they do not participate in the discussion. Which language
difficulty do they have?

1. Communicative
2. Expressive
3. Receptive
4. Pronunciation

Options :
1.1
2.2



3.3
4.4

Question Number : 106 Question Id : 50521227828 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In a class students are able to absorb the content but they do not participate in the discussion. Which language
difficulty do they have?

1. Communicative
2. Expressive
3. Receptive
4. Pronunciation

Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 50521227829 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In a classroom, the teacher sends message either as words or images. The students are

1. encoders
2. decoders
3. agitators
4, propagators

Options :
1.1
2.2
3.3
4.4



Question Number : 107 Question Id : 50521227829 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In a classroom, the teacher sends message either as words or images. The students are

1. encoders
2. decoders
3. agitators
4. propagators

Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 50521227830 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A formative evaluation of student writing

1. requires thorough markings of mechanical errors with a pencil or pen.

2. making comments on the appropriateness of the student’s interpretation of the prompt and the degree to
which the objective was met.

3. should require that the student’s hand in all the materials produced during the process of writing.

4. several careful reading of the text for content, mechanics, spelling, and usage.

Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 50521227830 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



A formative evaluation of student writing

1. requires thorough markings of mechanical errors with a pencil or pen.

2. making comments on the appropriateness of the student’s interpretation of the prompt and the degree to
which the objective was met.

3. should require that the student’s hand in all the materials produced during the process of writing.

4, several careful reading of the text for content, mechanics, spelling, and usage.

Options:
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 50521227831 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Children have an internal inborn faculty that help them discover the underlying pattern of the language. Which of the
following approach might be support the statement?

1. Behaviourist
2. Cognitivist
3. Innateness
4. Constructivist

Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 50521227831 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Children have an internal inborn faculty that help them discover the underlying pattern of the language. Which of the
following approach might be support the statement?

1. Behaviourist
2. Cognitivist
3. Innateness
4. Constructivist

Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 50521227832 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following may NOT occur in expressive language disorder?

Difficulty in understanding place value
Limited amount of speech

Difficulty learning new words
Difficulty finding the right word

el o

Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 50521227832 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following may NOT occur in expressive language disorder?

Difficulty in understanding place value
Limited amount of speech

Difficulty learning new words
Difficulty finding the right word

P Ll B P

Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 50521227833 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Match List-I component of language with List-IT meaning of the language component and select the correct option
from the given codes bellow.

List-I List-IT (meaning of anguage components)
(Component of
language)

I Phonology A. Refers to the rules for engaging in

appropriates and effective

communication,

I.  Semantic B. Refers to the rules governing the

structure and sequence of speech

sounds.

I Syntax C. The way underlying concepts are

expressed in words and word

combinations.

IV.  Morphology D. The rule hy which words are
arranged into sentences.

E. Grammatical markers indicating
number, tense, case, person,
gender, active or passive voice and
other meanings.

1. 1(B), 1I(C), (D), IV(E)
2. 1{A), 1I(C), I{E), V(D)
3. 1(B), II(E), l{E), V(D)
4. 1(D), N(E), IN(E), IV(A)

Options :



1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 50521227833 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Match List-I component of language with List-IT meaning of the language component and select the correct option
from the given codes bellow.

List-I List-IT (meaning of language components)
(Component of
language)

I Phonology A. Refers to the rules for engaging in

appropriates and effective

communication.

I Semantic B. Refers to the rules governing the

structure and sequence of speech

sounds.

I Syntax C. The way underlying concepts are

expressed in words and word

combinations.

IV.  Morphology D. The rule hy which words are
arranged into sentences.

E. Grammatical markers indicating
number, tense, case, person,
gender, active or passive voice and
other meanings.

1. 1(B), NI(C), (D), IV(E)
2. 1(A), 1I(C), N(E), V(D)
3. 1(B), lI(E), IN{E), V(D)
4. 1(D), II(E), IN(E), Iv(A)

Options :

1.1

2.2

3.3

4.4



Question Number : 112 Question Id : 50521227834 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Vocabulary acquisition of a child between 1% and 2§ year, reaches about 250 words and in two word utterance. This is
known as

1. telegraphic speach

2. grammatical morphemes
3. over regularize

4. conversions

Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 50521227834 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Vocabulary acquisition of a child between li and 2; year, reaches about 250 words and in two word utterance. This is
known as

1. telegraphic speech

2. grammatical morphemes
3. over regularize

4, conversions

Options:
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 50521227835 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which one of the following does not foster language development?

Using language to express fantasy

Using language to narrate events to begin and end a conversation
Using language to form and maintain social contact

Using language to social categorization

P Ll B P

Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 50521227835 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which one of the following does not foster language development?

Using language to express fantasy

Using language to narrate events to begin and end a conversation
Using language to form and maintain social contact

Using language to social categorization

P Ll B P

Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 50521227836 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which one of the following learning theories believes that language learning can be automatically attained with the
help of practice and reinforcement?

1) Cognitivism

2) Behaviourism
3) Constructivism
4) Interactionism

Options:
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 50521227836 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which one of the following learning theories believes that language learning can be automatically attained with the
help of practice and reinforcement?

1) Cognitivism

2) Behaviourism
3) Constructivism
4) Interactionism

Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 50521227837 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following is a characteristic of extensive reading?

1. Reading for fluency involves reading of longer text for pleasure

2. Reading for accuracy involves approaching a text under the close guidance of a teacher
3. Glancing rapidly through the text to find out some piece of information

4. Go through the text quickly in order to get gist

Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 50521227837 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is a characteristic of extensive reading?

1. Reading for fluency involves reading of longer text for pleasure

2. Reading for accuracy involves approaching a text under the close guidance of a teacher
3. Glancing rapidly through the text to find out some piece of information

4. Go through the text quickly in order to get gist

Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 50521227838 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Receptive language skills refers to

ability to understand and comprehend a new language.

ability to understand and express the spoken language.

the abhility to understand and comprehend spoken languages that one hears or reads.
the ability to understand and comprehend the second language.

Lo e



Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 50521227838 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Receptive language skills refers to

1. ability to understand and comprehend a new language.

2. ability to understand and express the spoken language.

3. the ability to understand and comprehend spoken languages that one hears or reads.
4. the ability to understand and comprehend the second language.

Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 50521227839 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

While teaching a second language in classroom use of ‘scaffolding for comprehension ability’ by teacher involves-

1. gesturing and using facial expressions
2. home language summaries

3. useof picture dictionary by the teacher
4. use of symbols

Options:
1.1

2.2



3.3
4.4

Question Number : 117 Question Id : 50521227839 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

While teaching a second language in classroom use of ‘scaffolding for comprehension ability’ by teacher involves-

1. gesturing and using facial expressions
2. home language summaries

3. useof picture dictionary by the teacher
4. use of symbols

Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 50521227840 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Forbidding a child to use their home language at school is detrimental to their learning because

1. using home language negatively affect learning.

2. itisviolation of their right.

3. itisillegal to prohibit the use of home language in school.

4. it may make students feel marginalized and feeling lost in the class.

Options :
1.1
2.2
3.3
4.4



Question Number : 118 Question Id : 50521227840 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Forbidding a child to use their home language at school is detrimental to their learning because

1. using home language negatively affect learning.

2. itisviolation of their right.

3. itisillegal to prohibit the use of home language in school.

4. it may make students feel marginalized and feeling lost in the class.

Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 50521227841 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

is multiple discursive practices in which multilinguals/bilinguals engage in order to make sense
of their bilingual/multilingual worlds.

1. Translanguaging
2. Semilingualism
3. Code mixing

4, Code switching

Options:
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 50521227841 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



is multiple discursive practices in which multilinguals/bilinguals engage in order to make sense
of their bilingual/multilingual worlds.

1. Translanguaging
2. Semilingualism
3. Code mixing

4. Code switching

Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 50521227842 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Mother tongue based multilingualism refer to

1. learners begin their schooling in mother tongue and move on to add many more (at least two) languages in
school.

2. learners begin their scholarship in home language and move on to add English and Hindi.

3. learners begin their schooling in English and move on to add three more languages.

4. learners learn through mother tongue in primary school and add English later.

Options:
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 50521227842 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Mother tongue based multilingualism refer to

1. learners begin their schooling in mother tongue and move on to add many more (at least two) languages in
school.

2. learners begin their scholarship in home language and move on to add English and Hindi.

3. learners begin their schooling in English and move on to add three more languages.

4. learners learn through mother tongue in primary school and add English later.

Options:
1.1
2.2
3.3
4.4

Language II
Section Id : 505212880
Section Number : 4
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 17
Number of Questions to be attempted : 17
Section Marks : 30
Enable Mark as Answered Mark for Review and
Clear Response: Yes
Sub-Section Number : 1
Sub-Section Id : 5052121602
Question Shuffling Allowed : Yes

Question Id : 50521227843 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (121 to 128)

Question Label : Comprehension
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Sub questions

Question Number : 121 Question Id : 50521227844 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
U R ST B
| TR
. AT AT
3. 9E 9=
4. UTEET T
Options :

I3

1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 50521227845 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
1. faem i

2. T
3. e
4. AT H

Options :

1.1

2.2

3.3

4.4

Question Number : 123 Question Id : 50521227846 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
1. foame frm =
3. TR
4. Fafma

Options :

I3

1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 50521227847 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



TSI S ST o6 T Ford & AT @
1. STy T |
2 T U AT
3. TR FHU AT
4. ITEHF I FHH

Options :
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 50521227848 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TR 5T § T E —
1. T2

2
FHETH
3. 3%

4. 9959

E]

I-J

Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 50521227849 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



ST T4 ST T 2ATIETE FT 27 S T ASET E —
1. T sEr

Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 50521227850 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Tq= =1 fa=g =
|. frem

FHATT

3. A

4. FTI-HdT

Options :

I-J

1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 50521227851 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Id : 50521227843 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (121 to 128)
Question Label : Comprehension
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Sub questions



Question Number : 121 Question Id : 50521227844 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T TeReRT TR 22
1. |&PId HT
2. SITeHIoET
3. 9MHd 99 @
4. QA ERT

Options :

1.1

2.2

3.3

4.4

Question Number : 122 Question Id : 50521227845 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
I. feam i

2. A
3. Sitae &t
4. FETH

Options :

1.1

2.2

3.3

4.4

Question Number : 123 Question Id : 50521227846 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



1. foame fisr =
. TR
3. WEEREATA
4. FEmRA

Options :

I3

1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 50521227847 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T 27T {‘Lw-ﬂ e Ta '%-Iath:l HATTTE —
1. ST
2. T U AT
3. T FHYU AT
4. TS hI THIH

Options :
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 50521227848 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



i

3
4. dIEg
Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 50521227849 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
S BT &5 | ATIE1S AT 2T S ohT SI=THT 2 —
1. e san

Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 50521227850 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



%

4. Tt T
Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 50521227851 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T TS -
l.
2.
%
4.
Options :

H4 33

1.1

2.2

3.3

4.4

Sub-Section Number : 2
Sub-Section Id : 5052121603

Question Shuffling Allowed : Yes

Question Id : 50521227852 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No

Question Numbers : (129 to 135)



Question Label : Comprehension
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Sub questions

Question Number : 129 Question Id : 50521227853 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

mﬁﬂﬂm@ﬁaﬁw IO FIE-ATE?
1. TR
2. UITEEAT
3. DA

™ =
4 TIRHEd SATEAT

Options :
1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 50521227854 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



TR 1 T fererfare Ug & 2 41 e 72 29
1. U 9T 22 S 2

STRET 7o UE =T AT 72 2|

4. Toefea U ot 3w 93 e 9|

I3

Options :
1.1
2.2
3.3
4.4

Question Number : 131 Question Id : 50521227855 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

ﬁlﬂmﬁuﬁ@ﬂﬁ'ﬁimm oqT?
. 399 FEERT 7R FE-Fat aivd =il
2. FIN HATRTET =T UTe AT €|
3. Tt S = qeea =wr
4. TR T HERR ST 59T TE

Options :
1.1
2.2
3.3
4.4

Question Number : 132 Question Id : 50521227856 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

I3

1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 50521227857 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
|. FEAHH
2. WETH
3. P
4. AT H
Options :
1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 50521227858 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



faameff = w2t s -fa=se =)
1. fomm + apeff
2. T + ameff
3. farg + e
4. o= + ameff
Options :
1.1
2.2
3.3

4.4

Question Number : 135 Question Id : 50521227859 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
e T AT TE BT
|. W
EEH
3. €A
4. HeaL

Options :

I-J

1.1
2.2
3.3
4.4

Question Id : 50521227852 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (129 to 135)

Question Label : Comprehension
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Sub questions

Question Number : 129 Question Id : 50521227853 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Wﬁg@&ﬁﬂﬂﬁw HTHE wﬁﬂnﬂT%‘?
1. OT=HeTe
2. T
3. SHEEET

[ i
4 TR ST

Options :
1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 50521227854 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



TR 1 T fererfare Ug & 2 41 e 72 29
1. U 9T 22 S 2

STRET 7o UE =T AT 72 2|

4. Toefea U ot 3w 93 e 9|

I3

Options :
1.1
2.2
3.3
4.4

Question Number : 131 Question Id : 50521227855 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

ﬁlﬂmﬁuﬁ@ﬂﬁ'ﬁimm oqT?
. 399 FEERT 7R FE-Fat aivd =il
2. FIN HATRTET =T UTe AT €|
3. Tt S = qeea =wr
4. TR T HERR ST 59T TE

Options :
1.1
2.2
3.3
4.4

Question Number : 132 Question Id : 50521227856 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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3. TSHE=T 9T ST B, ST S 9T 2
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Options :

I3

1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 50521227857 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
|. FEAHH
2. WETH
3. P
4. AT H
Options :
1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 50521227858 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



faameff = w2t s -fa=se =)
1. fomm + apeff
2. T + ameff
3. farg + e
4. o= + ameff
Options :
1.1
2.2
3.3

4.4

Question Number : 135 Question Id : 50521227859 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
e T AT TE BT
|. W
EEH
3. €A
4. HeaL

Options :

I-J

1.1

2.2

3.3

4.4

Sub-Section Number : 3
Sub-Section Id : 5052121604

Question Shuffling Allowed : Yes

Question Number : 136 Question Id : 50521227860 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 136 Question Id : 50521227860 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

FEHTHT T T T 5 e fafaem 3 T2 W fore e ==t o w82
|. a7 O TaITers sl 9T T ST 36 ohT STHaTaaT 3T 37129 S|
2. ST I ST ATFHTST F T S % o areEed # %
3. Tarameff i ST A1 TR T

4. HTGTST 3 ST T G FH|

Options :
1.1
2.2
3.3
4.4

Question Number : 137 Question Id : 50521227861 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



e T ST et ST FUT WA ST 3 T 5T G SO F A/ 2
TE Sl o T ] T 2

|, AT

2. |

3. TEATHSRAT

4. “STST AT

Options :

1.1
2.2
3.3
4.4

Question Number : 137 Question Id : 50521227861 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A U7 ST STeRT, JTERTST AU HEH ST 3 T Z e SN F AT A B
TE S 3 1o 1T o TR0 2

| AT

2. QI

3. TEATcHehAT

4. T AT

Options :

1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 50521227862 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



T TSI 2t STTeehdT 2 —
|. ST T T=aT S el WIS =l T 9T AT T8 2
. ST = TGO S T I
3. ST S ST U T TeRaT 99T 365 19 % 9 99 91 1 JdT]
4. SITF FI F W § UaH a9 fora = i)

-2

Options :
1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 50521227862 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TRT WSS 3! STTeeRaT & —
|. ST T T=aT S el WIS =l T 9T AT T8 2
. ST = TGO S T I
3. S1F T HTST U TaERaT 99T 39 19 F Tq T8 §979 3] 94T
4. SITF FI F W § UaH a9 fora = i)

-2

Options :
1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 50521227863 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Tor T Tt B e, AT U 19 1 7 0 i 4 31 e ST
eremedf =it w7t 3 0T 26 7T 61 G A T BTGS2 7 G 1 ] el g S 2
T TS e TaTed 27

| et

g

3. Tewmwar
4, Tewmraman
Options :
1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 50521227863 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
%W%ﬁﬁﬁﬁﬁﬂﬁﬁﬂgﬁ%ﬁﬂwdﬁmH%%d H?I?ﬂ?ﬁ'(ﬁﬁv.—
%ﬁnﬁﬁﬂﬁﬁaﬁ%ﬁﬁﬂﬁm@ﬁmf&—né%ﬁfﬂgwwm ﬁf&ﬁf{mﬁ?—qd@éﬂ%l
e ST T et 27

|, feweifemn

?g”

3. Tewmoioan
4, Tewmitemn
Options :
1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 50521227864 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



FrfafEs & & #1951 w11 ST S i Seff e 3 witem T4
. @t

15

Options :
1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 50521227864 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Pt & . T et e o o el o s 7 0
1. e

11

Options :
1.1
2.2
3.3
4.4

Question Number : 141 Question Id : 50521227865 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



WTST TTETH o 90 U2t ® 3397 27 SAT999 27
|, Teh ST=R UIgaga
2. TTHTER
3. WTST 3 Uid ST 9=

4. T =T ITAF

Options :
1.1
2.2
3.3
4.4

Question Number : 141 Question Id : 50521227865 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

WTST TTETH o 90 U2t ® 3397 27 SAT999 27
|, Teh ST=R UIgaga
2. TTHTER
3. WTST 3 Uid ST 9=

4. T =T ITAF

Options :
1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 50521227866 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



T T T IR0 7 S T AT T o T T W © AT 7 5 9 7 e
] 1 T A A S AR S
|, fepre e
R e
3. TR
4. fowerica fifem

Options :

| -]

1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 50521227866 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

4 T3 W WIS a7 e T T @ o T AT W e 2 A1 o o 92 A fevt
T T A 2 T S e
|, e fifgm
T
3, TR
4. T ifem

Options :

-]

1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 50521227867 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



STEATTF 219 3 7T A AT TTETTH F S W FH F & A1 7% e wa e 2
| sdfaEm
2. & g
3. 768 I
4, IR

Options :
1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 50521227867 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
TG B 3 A1 F1E 37T “TedaTal % 1 W HH o £ A 9 T watea 2
REGEACHIC
2. @& =
3. 3168 HEEA

4, TR
Options :
1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 50521227868 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



TrAfeAfas O & F19-97 U STHEahToTeh TU90T 3l 3STe0 27
. §HER-UA
2. TE HEN
3. Hifearmmsram
4, TREEZ

Options :

1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 50521227868 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
fraffEs & & F19-97 U STHEacTsh WU 2 SETei 27
|. ¥HER-TH
2. T N
3. SRR
4. TRZE

Options :

1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 50521227869 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



T FRW 3 T 00 e 0 A S o S 3 oA A fo e e
| s

3. TR

4. RO

Options :

-2

1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 50521227869 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
TAF RRW % T 1 TG T I S [R5 S 3 (o7 T Fe S e
[I=IE)
3. JdI®
4, o

Options :

-2

1.1
2.2
3.3
4.4

Question Number : 146 Question Id : 50521227870 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



T3 T TG U TS TR T8 £, 7 MR o 6 T 31 e S e -
|, 7T ST § ST S 2
2, TS % O 2|
3, W97 T AU H A 2|
4, W97 T 3T FEAT FA T 2|

Options :

1.1
2.2
3.3
4.4

Question Number : 146 Question Id : 50521227870 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Ttz ST FET U T W TR 2, 79 e 5§ ae 3 (e 2 e -
1. T ST ¥ e e 2
2. T U O €]
3, TN 0 AT H AFAT 2
4, 9T % EF FEA T
Options :
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 50521227871 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



T fereor o seTeaTe fafer T v T 3 for e fo o e et £ -
. GH-ARH T

. T W
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4. FERTE T

-
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Options :
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 50521227871 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
T fereor o seTeaTe fafer T v T 3 for e fo o e et £ -
. GH-ARH T
. T W
B RERLICER

4. FFH-IHA T

-

ad

Options :
1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 50521227872 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



TATeTRad = | -9 T STHE HISTET ST 3 o0 7geqv )
l. W—W
2. UEAT-foTEAT
3. I1-agT
4. mﬁm%@m
Options :
1.1
2.2
3.3

4.4

Question Number : 148 Question Id : 50521227872 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

foefertiae & & shi=-a1 g STfermeor wTsTeh ST o feor qeea 2)
. TS
2. UET-feTEAT
3. AT
4. mﬁm%@m

Options :

1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 50521227873 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



m%mﬁmw%wmmmﬁﬁmmwﬁhm erateren 1 3o fo, e, Sfem &
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TR 3 1T 27 3 A T -1 32 o e e
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3. W%%ﬁ%ﬁﬁ%ﬂﬁmﬁ%%ﬂ%ﬁw TRT, T 3 TEIN|

4. e T S T i T

Options :

1.1
2.2
3.3

4.4

Question Number : 149 Question Id : 50521227873 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
S i v e e o e e 1, s
7T T e 1 TR e 2
I % T 29 8% e .8 401 o e e
|, e T T 3 T A S
). T & 1 T A
3, W%%ﬁ%ﬁﬁ%ﬂﬁmﬂ%%ﬁ%ﬁw T T ] |
4, S S e T 1 e

Options :

1.1
2.2
3.3

4.4

Question Number : 150 Question Id : 50521227874 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
ore a1 srferne Ao AT 3 A AT i ST R e 7 3 o e 2
I. VIII &1 as
2. VRETTh
3. XTHTh
4. VIHE T
Options :
1.1
2.2
3.3

4.4

Question Number : 150 Question Id : 50521227874 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Fore o eRferene Ao AT 3 AR AT i S o e 9 3 o e 27
1. VIII & as
2. VHRETTh
3. XFHTH
4. VIFE T
Options :
1.1
2.2
3.3
4.4



